MATHS

BOOKS - NTA MOCK TESTS

NTA JEE MOCK TEST 19

Mathematics

1. If A and B are square matrices of order 3 such
that |A| =3 and |B| = 2, then the value of

‘A‘ladj(BA_l)l is equal to



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_z66GRYpih4nH

Answer: A

o Watch Video Solution

2. Which of the following statement is equivalent
to the statement "if 24 2 =4 then India is

country" ?


https://dl.doubtnut.com/l/_z66GRYpih4nH
https://dl.doubtnut.com/l/_4kzsolRj10LB

A.2 4+ 2 = 4 orIndiais a country

B.2 + 2 = 4 and India is a country

C.2 + 2 # 4 or India is a country

D.2 4 2 = 4 or India is not a country

Answer: C

o Watch Video Solution

3. Two points P and Q are lying on the curve

H "
y = log,(x + 3) in zy plane such that OP .7 =1

— ; y
and ,0 @ - 7 = 3 ,then the value of |[OQ — 20P

is (where,"O" is the origin).


https://dl.doubtnut.com/l/_4kzsolRj10LB
https://dl.doubtnut.com/l/_zYDz8DlHO6oU

A. /6
B. /7
C../8

D. /10

Answer: D

o Watch Video Solution

4.Bag A contains 4 green and 3 red balls and bag
B contains 4 red and 3 green balls. One bag is

taken at random and a ball is drawn and noted to


https://dl.doubtnut.com/l/_zYDz8DlHO6oU
https://dl.doubtnut.com/l/_YyHFBEThMX7Q

be green. The probability that it comes from bag B,

IS

>

Wl Nw win g

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_YyHFBEThMX7Q

5. The value of the integral

1
I= / [sinz + cos z](cos ¢ — sinz)dz is equal
0
to (where[] denotes the greatest integer

function)’

A /2
B. 24/2

C.1

D.v/2 —1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GPqj8VUmbYA5

6. If the letters of the word CORONA are arranged
in all possible ways and these words are written in
order of a dictionary, then the word CORONA

appears at the serial number

A. 108

B. 110

C. 106

D. 112

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_GPqj8VUmbYA5
https://dl.doubtnut.com/l/_MYMuk3xt94ES

7. The solution of the differential equation

dx
dy — yz—w = /zydy is (where , c is an arbitrary
constant)
y
A— =y+c
VT
2
Yy Yy
B.—— =2 +4¢
VEI
Cy=yyz+c
Y 2
D.— = -y~ +c
NG
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MYMuk3xt94ES
https://dl.doubtnut.com/l/_bktEG4de4VPc

8 |If (cot_01 a:)2 — 7(cot_la:) + 10 > 0 then
range of z will be

A.( — oo, cot 2)

B. ( — o0, cot 5)

C. (cot 2, cot 5)

D. (cot 2, co)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wbP88hb8FTeP

9. If  # B but, o> =4a — 2 and B2 = 48 — 2

then the quadratic equation with roots

(87 .
— and — is

I5} o
Az’ —4r+2=0
B.2> — 6z +1=0
Cz’+6x—1=0

D.z’> +4x — 2 =10

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7LLIkNb5VLWE
https://dl.doubtnut.com/l/_5SbAV4c158jt

10. The sum up to 60 terms of

5 + : + ! + ' |
— ....... ISequa
12 124+22 1242243

to

240

A ——
61
180
17

360
61

100
17

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5SbAV4c158jt

n.1f Cy, Cyq, Cs, ..., C,, are binomial coefficients

in the expansion of (1 + )", then the value of

Ci Oy G n Cn .
C —T—I—?—T—F...—I—(—l) n+1ls

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GVulMrZQLMnZ
https://dl.doubtnut.com/l/_QX9mHnuNh6Iv

12. The value of the

. 6 .
sinx T COST — sinx ,
dzxz is
I mz

(where, cis an arbitrary constant)

sin x

+ C
x
sin x
: C
x
- 7
sin’
- C
x
- 7
sin’
C
Tx?
Answer: D

integral

° Watch Video Solution



https://dl.doubtnut.com/l/_QX9mHnuNh6Iv

13. If the difference between the number of
subsets of two sets A and B is 120, then n(A x B)
is equal to

A. 21

B. 25

C.18

D. 24

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_P5u7ZzOnrFbO
https://dl.doubtnut.com/l/_9X2ZceOeSblt

14. The function f:[0,7] — [0,70] where
f(z) = 2° — 122* + 452, is

A.one -one & onto

B. many - one & onto

C.one-onto & into

D. many-one & into

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9X2ZceOeSblt

15. The area (in sqg. units) of the region

{(a:,y):y2 <2z and z? + y* < 4z, 20,y§0},

IS

A.7T—4—\3/§
s T 2V2
"2 3
C.7T—é

3
D.7T—§

3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wm1pCkyMAa0I
https://dl.doubtnut.com/l/_5IjADOBsEWRw

16. The value of lim
z—0

equal to

N w >
W] ot O] Ot DD =
| | w|B w|B5

o

Answer: D

log(sin bz + cos 5z)

tan 3z

° Watch Video Solution

is


https://dl.doubtnut.com/l/_5IjADOBsEWRw

17. The number of values of p for which the lines

z+y—1=0,pr+2y+1=0 and

4x 4 2py + 7 = 0 are concurrent is equal to

A.O

B.2

C.1

D. infinite

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_oVivHVio9vWC
https://dl.doubtnut.com/l/_P7JEYX080StM

, then the wvalue of

+ ———— + 3isequal to

B.3

C. 4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_P7JEYX080StM

19. From a point P(3, 3) on the circle 2 + yz = 18,
two chords PQ and PR each of 2 units length are
drawn on this circle. The value of cos (ZQPR) is

equal to

>
‘ -

(SV]
|0
[\W)

w0
|

9
2
c V2
3
b —%
9
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cjKj3wpePy2m

20. The equation of parabola which cuts the
parabola y? = 4bz orthogonally having the same

axis and length of latus rectum as 8b, is

A.y* = — 8b(x — 8b)

B.y? = — 8b(x — 4b)

C.y> = — 8b(z — 32b)

D.y> = — 8b(z — 3b)
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KYXWRTkA5Jgx
https://dl.doubtnut.com/l/_Sul0nSp9fTQt

5 5
2. If ) (z;—6) =5 and Y (z; —6)" = 25,
1=1 1=1

then the standard deviation of observations

° Watch Video Solution

22. If the image of the point P(1, — 2, 3) in the
plane 2z + 3y + 42 + 22 = 0 measured parallel
to the line 20z = 5y = 4z is point Q, then the

value of |PQ|* is

o Watch Video Solution



https://dl.doubtnut.com/l/_Sul0nSp9fTQt
https://dl.doubtnut.com/l/_cflYKU820X4m

23.tan® 20° — 33tan?20° + 27tan?20° + 4 =

o Watch Video Solution

V1+y5+z—a

0<x<4

4. If f(x)= (z—4) - is
b x >4
continuous at x =4 then value of P is equal to
a
A 4
B.15
C.8

D. 12


https://dl.doubtnut.com/l/_9P4vmCTmKnzG
https://dl.doubtnut.com/l/_t3YDNdBUCmsC

Answer: D

° Watch Video Solution

2 ,w3

% If P=1-2,Y n
. | = 5 1 2 U ‘s

2

1l —w

and P, = { where w is non-real root of

equation z° = 1}, then P, P, is equal to

o Watch Video Solution



https://dl.doubtnut.com/l/_t3YDNdBUCmsC
https://dl.doubtnut.com/l/_rzeXADkzHdX9

